LINEARNE NEROVNICE - A

Oznac spravne rieSenie nerovnice!

1) —5k—5<-8k+7
A) k>4 B) No solution.
C) k<4 D) k>-18

3) N-2>-7+2n
A) n<5 B) n>-24
C) n>1 D) n<1

5 -Xx—-2<x+8
A) x<—4 B) x<-5
C) x<-1 D) x>-5

7) 7-8b>14—-7b
A) b>-22 B) b>—4
C) b<-7 D) b<-22

9) -7-6n>7-4n
A) n<-7 B) n>-7
C) n>-35 D) n>-14

Meno

Trieda

2) 5+43n-6n<-5n-5+7n
A) n<2 B) n>2
C) n<-35 D) n<-8

4) 11 +5x=>x-15
A) x>—4 B) x>-33
C) x>-40 D) x>-37

6) k-5 <4k — 3K

A) k<-29

B) { All real numbers. }
C) No solution.

D) k<-35

8) 4X+ 6> 6X— 8

A) x<-7 B) x<7
C) x<-3 D) x>-3

10) 1 -5x—2>12+2X+ 6X

A) x<-1 B) x>-1
C) No solution. D) x>-2
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2) B 3) A
6) B 7) C
10) A
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